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No (% IEES =7 E=vE e (@Y~ Fs) I3
pg_ctl start [ pg_ctl status
1 postgresaLos BsPosigresQLY —/ < [postgres  [server sarting. £ cil: server s running (PID: 23121)
[usi/locall pgsal/bin/ postgres
Spsar
Il (9.2.4)
[Type "help® for help.
|postgres=i select version();
2 [PostgreSQLD/ S~ (B #7PostgreSQL Y —/¢ [postgres. verston [
PostgreSQL 9.2.4 on 186 64-unknown-linux gnu, compiled by gec (GCC) 4.4.7 20120313 (Red Hat 4.4.7-3),
loa-bit
(1 row)
[idbcRunner® 4> AR—JLiE, TRIHE_O1_HEY— LDV AF—LFIEIZBMLT F2L, §
3 dbeRunnerd 4> 2 Eoy— E23
IS createdb tpee Spsal T
List of databases
Name | Owner | Encoding | Colate | Ctype | Access privileges
postgres [ postgres |UTFS |C_ [C_ |
templateO [ postgres [UTF8 | C cipostgres +
4 [BEEAT—9<—2OFM |BE#7PostaresOL —/< [postares I I postgres=CTc/postgres
templateT | postgres |UTF8 '[C - 1C_|=c/postgres  +
| I postgres=CTc/postgres
tpcc [postgres |UTFE | IC |
((4 rows)
|$ export CLASSPATH=SCLASSPATH: JdbcRunner& BRIL = 7 1L-Z J/jdbcrunner-1.2 jar [ psal tpcc.
S R ERALST -_load.js -jdbeDriver it .Dr -jdbeUrl
L2543 “Jdbcpass posteres -dbcUser postgres ogDir & ftpce=+ ¥d
DA Listof relations
Schema| Name | Type | Owner
| public | customer | table [ postgres
I o - public | distrct | table| postgres
5 [REAF-SORA EEy (e public | history | table | posteres
public|item | table | postgres
public | new_orders | table | postgres
publi | ordsr_line | table | posteres
public | table | postgr
public stock | table | postgres
public | warehouse | table | postgres
|© rows)
R 50 K AREOED. T OSAL R UET. Count
|$ psql tpec 480000
|1 row)
# select count(*) from customer;
select count(’) from district; count
tpcc# select count(*) from history;
ltpce=# select count(*) from item;
tpec-1 select count(’) rom new. orders;
pec-# select count(’) from order line;
pec= select count(”) from orders;
[tpcc=+# select count(*) from stock;
[Toce=1 select count(") from warehouse; 480000
(1 row)
count
100000
[(1 row)
count
6 [MEEMT—5DHBRE (B #7PostgreSQL Y —/¢ lpostgres. 144000
[(1 row)
count
4798495
|1 row)
count
480000
| row)
count
1600000
I row)
count
i
[(1 row)
[PostgreSQLD A~ ZF— /L3, TRI#E_00_PostgreSQLA Y AF— /L FIIEEMLT F =1, [
7 [PostgreSQL 9.3.204¥Ah—IL [#i#tPostgreSQLY —/< [
o0 ot start S pe i status
- server startins & cil: server i running (PID: 23121)
s s » ostares ['ist/local pesal, bin postgres
S psal F
lpsal (9.3.2)
[Type "help" for help.
|postgres=# select version();
version
9 o postgres
PostgreSQL 9.3.2 on x86. 64-unknown-linux g, compiled by gec (GCC) 4.4.7 20120313 (Red Hat 4.4.7-3),
oa-bit
(1 row)
—— Slony 11> AP, TR OT_RRT— 077 A= N R AR AL TR,
b ostaresaL L
10 [Slony-104> 2h— S e
[$ 0 dump —C -s tpce [ psal -h [#i#RPostgreSOLY —/<DIPF FL ] sﬁ!ﬁ?os!greSnL‘(‘mcc?f&’A‘f}kﬂ)?f7’leV13LIVV
T tpec
(Bg)
JGRair tpec=t ¥
List of retations
OLae Ktk F—SEER, BBNICLTUr—2aYTEItA, Schema | Name | Type |
|WHI I HiARPostareSILY —/ U tpec T — F R—ADAF—TAIE—LTHEFT, [
public | customer | table ‘ postares
public | district | table | postgres
public | history | table | postgres
public | it | table ‘ postgres
n 7 -5 [postgres. public | new orders | table | postgres
public | order Line | table ‘ postgres
public | orders | table | postgres
public | stock | table | postares
public | warehouse | table | postgres
@ rons)
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Flony T2 PRIMARY KEVA I W R s~ L EL 707~y CR 2B A, F
[PRIMARY KEYA R TWEWF—TILEREBLET,
ltocc=# select relname as table. name from pg_stat.user_tables where relname not in (select distinct
bl name from formarin. schamatablecansuants where consrain ype=PRIVARY KET
ey — table name.
12 |77 A ATT TR gpoggesaly—rs fposigres
istory
1 row)
m;«mﬁfﬂmvfw; AV TERVESD, LT YT~ 2V R T i, pg_dump/pg_restorek BV TT—5EBTL
e
—RTA_T setup.sh): ICEEDT LM ITsetup shEFELET, sheéu})shfi‘sibf;fcw TERNAMEJIC_(7 5=/ AF VRSN TV B
S sh selups °
(TF—HHDENLNIE) S psal tpee
. lpec=i vn
13 S‘c"v IDRMBERSYT 0K |Wi#RPostgreSQLH# —/< lpostgres. List of schemas.
Name \ Owner
| siony dus\ev posgres
public |
@ o
S e e G e vsrpostg s vt 5 ps aux] grep slon
210401 16:45:02 JST CONFIG main: slon version 2.2.2 tarting up [posteres 8514 00 0.0 8580 784 pts/3 S+ 16:45 0:00slon slony.cluster dbname=tpce user-posteres
10401 164563 5T INFO Son watehdog proccss ared lpost-localhost
sy [posteres 8515 0.0 0.1 475608 3440 pts/3 I+ 16:45 0:00 slon slony.cluster dbname=tpce
14 [Slony-I(A5) 0828 EfrPostereSQLY < ostares  [2012-04-01 16:45:02 ST CONFIG storeListen: I origin=2 i receiver=1 I loser-postgres host-localhost
5014-64.01 16:45:03 5T CONFIG rmotemorker Potasd 2. updoe provdr songuration oot 8557 0.0 0.0 107468 936 pts/8 S+ 16:47 0:00 grep slon
[ nIcSIony 100 At nERET
[ STon Slony cluster "dbname=tpec user-postgres host-Iocalnost 5 ps aur | grep son
2012-04-01 16:50:41 JST CONFIG main: slon version 2.2.2 starting up lposigres 105860 00 8564 788 pi/ S+ 16:50. 000 slon slomy.cluser dbnamesipee user-postgrs
2014.04.01 16:50:41JSTINFO slon: watchdog process starte lpostclocalhos
() postgres 1059 0.0 0.1475612 3492 pts/4 S+ 16:50 0:00 slon slony_cluster dbname=tpce
15 [Slony-I(AL—7)DEE [#i1fPostgresQLY —/< lpostares [2014-04-01 16:51:55 JST INFO remoteWorkerThread_1: SYNC 5000000068 done in 0.005 seconds. luser-postgres host=localhost
20140401 16:51:57 JSTINFOremoteWorkerThread_1: SYNC 5000000069 done in 0.005 seconds Jpostgres 1135 0.0 0.0 107464 920pis/1 S+ 16:52 0:00 grep slon
| DICSlony- OO AW AThES .
F—FAz EEOFLINII 37,
5 shsubseribe
ey
16 [V TUr—saom Etrpostgresaly—/< [postares
[Slony-I(RL—)@OFIZLF A 5 NBTEEREELET. 1 LT L AL—TRF—TILOF  (TRUNCATE). 7 i
&7,
lS\any (RL—7)DOT L)
40401 16:59:49 ST CONFIG version or“dbname-tpce host=10.36.239.24 user=postgres' is [(Slony-I(XL—7)DOY )
ROTE/04.01 16:57:16 5T CONFIOremateWorkerThead 1 Begin COPY of table "publiccustomer”
2014 DA 01 16:59:49 JST INFO  remoteWorkerThread 1: syncing set 1 with 8 table(s) from provider 1. INOTICE: - faile
2014-02-01 16:59:49 JSTINFO_ remoteWorkerThread 1: SYNC 5000000104 done in 0.046 seconds [2014-04-01 1 8T CONFIC remoteWorker hiéad. 1 276918283 bytes copied for able
public* custom
17 s avomz lriPosteresQLY—/< lposteres LRt — BN TN BET, LIES A D DY £33 o040 8.27:47 IST CONFIG remoteWorkerThread. 1: 31.772 seconds to capy able.
[Lpublic* "customer”
Slony 1DAL—TE YA EXREAET. T 37 ARG ERELET .
| 724 A —1 S8, WiAPosIgreSQLT BATALE A RIT ARV LY FT . S psal tpee
< —hTA_3 failover.sh) £ B HIEROT LI failover shEFRLET, [tpcc=# insert into warehouse values (19);
ser o7
S date ; sh filover.sh idate =4 delete from warehouse where w_id= 19;
2014% 48 18 JER 17:34:21 ST Secere
VA= DR PostgresaL—/< ostgres [executing preF 3
18 PN 0% [F#sPostgresal - Poste! INOTICE: executing” siony_custerfaledNode2 on node 2
s noTCE  Callng restart no
INOTICE: executing " slony. cluster”. h\\edNudeii on node 2
ldebu: wamng«m 5000000213 o
ER AR R A
ozt iz, > . CRBRENALL BETT.
[$ psal tpce [
= ¥iiming
[Timing is on.
4 VACUUM VERgOSE:
INFO: vacuuming 'pg_catalog,pe_statistc”
INFQ: index i safsic el it i ndex”now contins 422 ow versions i  pages
IDETAIL: 0 index row versions viere remove;
19 greSQLH—/< lpostares 0 incex pagos have been deleted, 2are curenty reusable,
ICPU 0.005/0.00u sec elapsed 0.0
INF: g satsi” ound G removable, 422 nonremovable row versions in 18 out of 18 pages
4
cuum
[Time: 45253.710 ms
S psql tpec [
wc analyzing 'pg_catalog pg_type
e SCamned 1 & pages cotining 352 e rows nd 0 desd rows; 352 rows insamle, 352
[stmatedion
lanaL; PostgresaLy—/< osgres IO anlyzng” public istory”
20 ANALYZEORTE fiPostgreSQL postare: INFO: *history": scanned 5180 of 5180 pages, containing 480000 live rows and 0 dead rows; 30000 rows in
sample, 480000 estimated total rows
INFO: analyzing “public.tem"
IANALYZE
[Time: 4976.217 ms
[slony-1Z&# L 7=3>/— L ET(Ctrl+C)E M T [S ps aux| grep slon
20140201 17:36:26 ST INFG cleanupThread: ~0.265 seconds for cleanupEvent() [posteres 1805 0.0 0.0107464 924 pis/4 S+ 17:40 0:00 grep sion
(CarcenT
INOTICE: Siony:I: cleanupEvent(: Single node - deleting events < 5000000273
. INOTICE: SlonyI: log switch to i log 2 complete - truncate sI
21 [Slony-HFY2)DBL iPostgresaLy —< R CONTEXT: PLpgSGL unction sory cluser cleanupevertenal e 95 atasigoment
12014-04-01 17:36.26 JSTINFO cleanupTive: seconds for cleanupEvent(
20100401 17:40,35 15T CONFIG son cid terminated Sgnet o pi 1490, eutfent worker pid: 1490
2014-04-01 17:40:33 ST INFO slon: done
[2014-04-01 17:40:33 JST INFO _slon: exit(0)
[stony-1ZEEL 3> — L ET(Cri+C &/ T [
2014-04-01 17:43:36 JST FATAL main: Node s not initialized properly - sieep 105
(CahsoemT:
-04-( cannot get sl_local_node._id - ERROR: schema * slony cluster” does not
22 [Slony- (BT 2S)0 5 maPosgresaLy—< R [ooL 0401 17:43:36 IST ERROR cannot get s local.node. d
|74t =/ SBHIZBEAF PostgreSQLA Sslony- I D AF — T HHIRE BT, LROAy E—IHHNThET,
o T PRNARY KEVA L Cuvaes—7 Ve 77— S e o~ 75077 B[S ot o o 1 10362392 5 Fe-~verbose < ston pee = T sy il e
|PostgreSQLAN S/ <Py TLET, [2014% 41 18 KB 18:50:22 JST
loE_dump: reading schema
S%]da!e pg_dump -h [BE#PostgreSQLOIPT KL 2] -a -Fc --verbose -t history tpce > /tmp/[/$90 P9 7 2741 (éﬂé P frable b
i loE. dump: dumping contents of table history
23 |pg_dumpDE{T |#isRPostgreSQLY —/< [postgres. 26145 48 18 KWH 18:50:25 5T




LI =23y (Siony)(924-932)

4 |og_restoremi [FisfPostgresQLy—/¢

lpostgres

[§ date ; pg_restore -~verbose -0 tpee /mp/[/<75 757 97 (VA ; date

[ date ; pe_restor

log_restore: implied datar

verbose -d tpcc /tmp/Nistory.5al ;dale
[207a% 35 18 AHE 18:51:11 45T
[pe_restore: connecting to database for restore

only restore

g restoe:seting ownr an pyivieges for TABLE DATA history

[014% 4 18 KWE 18:51:41

R — st [#isfPostgresaLy—/¢

lpostgres

EF—TNORRERELET.
s psal tpee

) 3
P () from district;
) from history;
ect count(’) from item;
lect count(*) from new.
ect count(’) from order_line;
ectcountl)fom rders;
select count(’) from stoc
St Couni from wrehouse

count

480000
I row)

count

160
| row)

count

480000
| row)

100000
| row)

144000
| row)

count

4798495
(1 row)

count

480000
| row)

count

1600000
| row)

16
[ row)

6

dbcRunnerm %3 Ry —¢

=4

[S export CLASSPATH-SCL

2Rt

15 s -jdbeDriver
o ;oslgresq\ J{PosigreSQLY—/DIPPLR e bt pe e Sabcer pasares ogor 5]
7

DBC URL idbe:pos

3:49:32 [INFO | [Response
13:49:32 (INFO | < JdbcRunner SUCCESS

jab
e posenat Jlocanostisazz/ tp:c ey Sabs ey oot B e

s
it flename  : usr/loalsc/idbcrunner1.2/scrptspecis
DBC driver - org postgresql.Driv

grosal /localhost:5432/tpec

o
33 INFO | Tiny TPC-C 1.125,60,62,62
Sidnio5 [NFo | brress 21 soe, 68/676.6: ps, 677,636,69,68,66

time (maximum)]

3:49:32 (INFO | [Response time (99%ile)] 1122,1045,285,1168,609 msec
1476,1548,303,1245,1088 msec

<O

= SN
v ustlocaldbcrunner-1.2/scrips/tpecis
[var measurementrime = 60;

OIS RERT 5,

lpostgres

5 pg_ctlstop

ratingfor server t shut down. LOG: received smart shutdown request
m launcher shutting down

LOG: shutting down

LOG: database system i shut down

server stopped

5 pe_ctl status
lpe._cti: no server running

N

3

lslony-I D 2% —< 2 HIR [#isfPostgresaLy—/¢

lpostgres

S psatpec

tpce=# DROP SCHEMA_slony.cluster CASCADE;
(8)

IDROP SCHEMA

fipcc= Yan
List of schemas
e | Owner

public| postgres
I row)

[B#POstBreSALOT> 1Y 2R e ppossgresaty—rs
b

oot

[ed
|# make uninstall

[75u- postgres
S which psal

no psalin

5
[3:4.5/bin: usr/local/storm/bin: home/ postares/ bin)




A_1_selupsh
A1 setupsh

BEURL 2/wtorial.
(F THES % LRURLD S Y TN DS OETS)

[F7Bin/sh

LAVEDENA
|masTERHOST- reSQLY —/(QIPTRLZ]
LAVEHOST=(878PostgreSQLY —/YQIP KL
st local/slony 1 bin/slonik <<_EOF_

.
# define the namespace the replication system
# uses in our example it is slony_example

e
cluster name = SCLUSTERNAME;
#admin conninfo's are used by slonik to connect to

I
#admin conninfo's are used by slonik to connect to

# the nodes one for eachnode on each side of the cluster,
# the syntax is that of PQconnectdb in

it the C-API

P

node 1 admin conninfo = dbname
host=SMASTERHOST user=SRE

node 2 admin conninfo IAME ¥
host=SSLAVEHOST user=SREPLICATIONUSER'

PLICATIONUSER'
S

.
#init the first node. s id MUST be 1. This creates

# the schema_SCLUSTERNAME containing all replication
# system specific database objects.

init cluster (id=1, comment

Master Node’

#Slony organizes tables into sets. The smallest it
#anode can subscribe is a set. The master or origin of
# the set is node 1

P
create set (id=1, origin=1, comment='All ipce tables);
et add table (set id=1_ origin=1. id=1.

igin=1_i
fully qualif ‘public.customer.
mment=1 e

4 id=1_origin = 1

fully qualified name = public.distict.
4 id=1. origin = 1_i

fully qualified name = public.iterm’
comment = i %)

d table (set id=1_ origin = 1. i

fully qualified name = public.new orders!
comment = new orderw table)

set add table (set jd=1. origin = 1. id = 6.
fully qualified name = public.order line’,

set add table (set jd=1. origin = 1. id = 7.
alified name = public orders..

ment = stock orders’
set add table (set jd=1. origin = 1. 1d = 9,
fullv qualified name = public warehouse’
comment = warehouse table’

# Create the second node (the slave) tell the 2 nodes how
# 0 connect to each other and how they should lsten for events.
#

‘Slave Node', event nod

%

REPLICATIONUSER);

, client = 1,
SLAVEHOST user=SREPLICATIONUSER);

>
i
3
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A2 subscribe.sh
BEURL 2/utorial,
(F THES % LRURLD S Y TN DS OETS)
[F7Bin/sh
\cLusTERMARE=slony clustor
|MASTERDENAME=1pcc
SLAVEDBNAME=10cc
|MASTERHOST={BE PostpresQLt —rDIEZKL,
LAVEHOST=[8748PostgreSQLY —/YQIPTKLA]

ust/local/slony 1 /bin/slonik << EOF._
P
# This defines which namespace the replication system uses.
e
cluster name = SCLUSTERNAME;
e
# Admin conninfo's are used by the slonik program to connect
# 10 the node databases. So these are the.

# that connect from the administrators workstation (where
# slonik is executed).

e
node 1 E
user=SREPLICATIONUSER',
node 2 admin conninfo = ‘dbname=SSLAVEDBNAME host=SSLAVEHOST ¥
User=SREPLICATIONUSER',

P
# Node 2 subscribes set 1

e
subscribe set (id = 1, provider = 1, receiver = 2, forward = yes);
| £oF

A_2_subscribe.sh


http://www.slony.info/documentation/2.2/tutorial.html#FIRSTDB

A3 falloversh

BEURL 2/t
(F THES % LRURLD S Y TN DS OETS)

[F7Bin/sh

|CLUSTERNAME=slony cluster
|MASTERDENAME=tpcc
SLAVEDBNAME=10cc
|MASTERHOST={BE PostpresQLt —rDIEZKL,
LAVEHOST=[8748PostgreSQLY —/YQIPTKLA]

|# execute slonik command

/ y << EOF_

[cluster name = SCLUSTERNAME;

Inode 1 ‘
REPLICATIONUSER'

user=SREPLICATIONUSER
failover (id = 1, backup node = 2);

ldrop node (id = 1, event node
| €oF_

):

lexit 0;

use
Inode 2 admin conninfo = dbname=SSLAVEDBNAME host=SSLAVEHOST ¥

A3 falloversh


http://www.slony.info/documentation/2.2/tutorial.html#FIRSTDB
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